FBRBEPELEE TS ER 3H 2H HoE F R R % & 590 t
[Br3E 452 t ] [BZE 138 t ]
B AWEIZRTHESHEE 19 % FHEEDL B ATMEITRIBRE B 119 % e
H AL A (BAA)
i3 3 * %=
o g FEREY H AL B & % {8 A E FEEH | B L | B E % fH
IR KWK 200 g 64 — | BrA FOEx L 10 ke 3, 780 1,188
LA7% = R 250 g 97 — | HEA»A =
k07 /. 200 g 64 — | Wi =R 10 ke 3, 024 1,512
IE5NAE S = B 200 g 75 54 | U = 10 ke 3, 780 1,512
FhE &= 150 g 86 — | FAIALE— = B 250 g 432 216
LwAEL X R 160 g 86 — | WD) = B 250 g 432 216
— — — — — | HEE = B 270 g 648 432
ANy - = ) 10 ke 1,080 648 | T—I A AT e 9 ke| 19, 440 18, 144
BEEFEICA T A IR 10 ke 1, 296 —
(< W = M 15 ke 1, 620 756
Xy = M 10 ke 1, 296 648
L&A It & 10 ke 3, 240 2, 160
oY B 5 ke 2, 700 2, 268
A9cn = S 5 ke 2, 160 —
k= g K 4 ke 1, 620 —
B 5 &n 150 g 108 —
EZAED FOEK L 2 ke 2, 592 1, 944
L x REIR B 10 ke 2, 160 1,836
mEnE AbvgE 20 ke 2, 484 2, 268
A LT m B 100 g 151 118
LU £ B 100 g 59 43




RERYPREIFNSER 3H 2H WO Kk E M R OEoE KR 57 t

WMo . AREILEIESZALE 30 %»# [f¢/ 31t ] 8t ] [#5+ 18 t ]
Bl (BUAR)
i3 =} T

& H FEREM iz ([ {1 B FEEM fir | ® HE {[ER
£FEAHHE R 1 ke 2, 052 1,620 | |4 F U 1kg 2,376 1, 080
aE S AR KIEE 1 ke 1, 285 1,134 | YN W AESS 1 kg 1, 296 540
T ROkl 1ke 972 183 | #Z = =i 1ke 2, 160 972
HoS E W 1 ke 1, 944 216 | A FORR L 1 kg 1, 404 —
AT O 1ke 583 140 || FV A I 1 ke 5, 400 1,188
ANV A AT [ 1ke 1, 458 723 | BTV JbigE 14 248 54
N m 5 1 kg 1,728 183

EZA F R 1 ke 3, 564 540
TE& = CH7 1 ke 3, 240 2, 700
INTE = E 1 ke 864 216

T H 1 ke 1,728 324

s TN 1 ke 3, 240 907

T A AOER L 1 ke 2,376 324
7Y RIS 1 ke 2,538 1, 404

TUZ ' K 1 ke 3, 240 648




